SUPPLEMENTAL WORK AUTHORIZATION NO. 3 TO WORK AUTHORIZATION NO. 2

WILLIAMSON COUNTY ROAD & BRIDGE PROJECT: County Road 255 – Environmental Services

This Supplemental Work Authorization No. 3 to Work Authorization No. 2 is made pursuant to the terms and conditions of the Williamson County Contract for Consulting Services, being dated February 25, 2020 ("Contract") and entered into by and between Williamson County, Texas, a political subdivision of the State of Texas, (the "County") and SWCA, Incorporated (the "Firm").

WHEREAS, the County and the Firm executed Work Authorization No. 2 dated effective June 22, 2021 (the "Work Authorization");

WHEREAS, pursuant to Article 14 of the Contract, amendments, changes and modifications to a fully executed Work Authorization shall be made in the form of a Supplemental Work Authorization; and

WHEREAS, it has become necessary to amend, change and modify the Work Authorization.

AGREEMENT

NOW, THEREFORE, premises considered, the County and the Firm agree that the Work Authorization shall be amended, changed and modified as follows:

- I. The Services to be Provided by the Firm that were set out in the original Attachment "B" of the Work Authorization are hereby amended, changed and modified as shown in the attached revised Attachment "B" (must be attached).
- II. The maximum amount payable for services under the Work Authorization is hereby increased from \$33,905.07 to \$42,321.63, reflecting an increase of \$8,416.56. The revised Fee Schedule is attached hereto as Attachment "D" (must be attached).

Except as otherwise amended by prior or future Supplemental Work Authorizations, all other terms of the Work Authorization are unchanged and will remain in full force and effect.

This Supplemental Work Authorization does not waive the parties' responsibilities and obligations provided under the Contract.

IN WITNESS WHEREOF, the County and the Firm have executed this Supplemental Work Authorization, to be effective as of the date of the last party's execution below.

FIRM:	COUNTY:
By:	By:
Matthew McMillan Printed Name	Printed Name
Natural Resources Director – Austin	Timed Pulle
Title	Title
July 27, 2023 Date	Date
LIST OF ATTACHMENTS	
Attachment B - Services to be Provided by Firm	
Attachment D - Fee Schedule	

APPROVED

By Christen Eschberger at 5:21 pm, Jul 27, 2023

Attachment B Services Provided

ATTACHMENT B Services to be Provided by the Firm

WORK AUTHORIZATION NO. 2 SUPPLEMENTAL #3 PROJECT: County Road 255 – Environmental Services

The original scope assumed that access to the project area would be available during the field surveys. However, the County requested the Firm perform the relevant field surveys prior to full access, requiring several mobilizations which were not in the original scope. As such, the field survey portion of the due diligence process required additional time than what was originally scoped. Details describing the out-of-scope work are described for each task, below:

Task I – Threatened & Endangered Species Habitat Assessment and Impacts Analysis

Anticipated a single mobilization of two biologists for the field survey. However, two
mobilizations of Firm specialists with associated mileage were required due to access issues for
some parcels.

Task II – Aquatic Resources Delineation

• Anticipated a single mobilization of two biologists for the field survey. However, two mobilizations of Firm specialists were required due to access issues for some parcels.

Task III - Cultural Resources Assessment

• Anticipated two, 12-hour mobilizations for two archaeologists surveying all parcels at once. However, two archaeologists surveyed portions of the project area two additional, unanticipated times, plus one archaeologist visited one additional property during an unanticipated third visit. Five mobilizations of Firm specialists were required due to access issues for some parcels.

Task IV – Phase I Environmental Site Assessment

- Anticipated a single mobilization by one geologist from San Antonio (where the Firm's
 geologists reside). However, an additional mobilization by the same geologist was required to
 survey several parcels where aerial imagery indicated hazardous materials could occur. The
 second mobilization by the geologist was coordinated to coincide with another, unrelated project
 in the area so the Firm's geologist could split their time appropriately. Two mobilizations of Firm
 specialists were required due to access issues for some parcels.
- Additionally, the database search was budgeted at \$500; however, the actual cost was \$845.34 i.e., \$345 more expensive than originally budgeted. The maps generated by the database company also required work by the Firm's geographic information systems (GIS) specialists to render the data useable within the report, which was not anticipated.

Attachment D Fee Schedule

ATTACHMENT D

Fee Schedule

WORK AUTHORIZATION NO. 2 SUPPLEMENTAL #3 PROJECT: County Road 255 Environmental Services

Estimated Cost Breakdown

The Firm proposes to conduct the services described in Attachment B on a time and materials basis in accordance with SWCA's 2022 Adjusted Rate Schedule.

Project Role	Rate	Task 2 - Threatened & Endangered Species Habitat Assessment		Task 2 - Aquatic Resources Delineation		Task 3 - Cultural Resources Assessment		Task 4 - Phase I Environmental Site Assessment		Total Hours	Total Charge
		Hours	Charge	Hours	Charge	Hours	Charge	Hours	Charge		
Specialist II	\$ 80.30	-	\$ -	-	\$ -	-	\$ -	8.00	\$ 642.40	8.00	\$642.40
Specialist II	\$ 80.30	•	\$ -	-	\$ -	10.00	\$ 803.00	-	\$ -	10.00	\$803.00
Specialist IV	\$ 100.62	-	\$ -	-	\$ -	-	\$ -	-	\$ -	0.00	\$0.00
Specialist V	\$ 110.79	-	\$ -	-	\$ -	-	\$ -	-	\$ -	0.00	\$0.00
Specialist VI	\$ 120.95	3.00	\$ 362.85	3.00	\$ 362.85	3.00	\$ 362.85	4.00	\$ 483.80	13.00	\$1,572.35
Specialist VII	\$ 133.15	10.00	\$ 1,331.50	-	\$ -	1	\$ -	-	\$ -	10.00	\$1,331.50
Specialist VII	\$ 133.15	-	\$ -	-	\$ -	-	\$ -	-	\$ -	0.00	\$0.00
Specialist VII	\$ 133.15	-	\$ -	11.00	\$ 1,464.65	-	\$ -	-	\$ -	11.00	\$1,464.65
Specialist VII	\$ 133.15	-	\$ -	-	\$ -	4.00	\$ 532.60	-	\$ -	4.00	\$532.60
Specialist VIII	\$ 144.33	2.00	\$ 288.66	2.00	\$ 288.66	2.00	\$ 288.66	2.00	\$ 288.66	8.00	\$1,154.64
Specialist X	\$ 173.80	ı	\$ -	ı	\$ -	ı	\$ -	1	\$ -	0.00	\$0.00
Specialist XII	\$ 213.44	1	\$ -	-	\$ -	1	\$ -	-	\$ -	0.00	\$0.00
Subject Matter Expert I	\$ 213.44	1	\$ -	1	\$ -	1	\$ -	3.00	\$ 640.32	3.00	\$640.32
Total Labor 67.00										\$8,141.46	
Expense	Per Unit Cost	Units	Charge	Units	Charge	Units	Charge	Units	Charge	Total Units	Total Charge
Mileage	\$0.655	100	\$65.50	-	-	100	\$65.50	220	\$144.10	420	\$275.10
Total Expenses										\$275.10	
					Total Cost						\$8,416.56